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Rounding to the Nearest Ten
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What is 3,015 rounded to the nearest ten?1)

a) 3,010 b) 3,020 c) 3,000 3,030

a) 570 b) 574 c) 580 d) 560

Round 579 to the nearest ten. 2)

a) 35 b) 40 c) 20 30

Round 33 to the nearest ten.4)

Complete the in-and-out boxes using the given rules.A)

1)
In

56

2,893

139

4,672

Out In

9,514

347

81

6,998

Out
2)

93 84 c) 98 d) 95

Which of the following when rounded o! to the nearest ten is 90? 3)

b)

d)

B)

Rule: Round to the nearest ten. Rule: Round to the nearest ten.


